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7 .1.§..+ 911. = 16 27 = 17 ..L 1) 6.±. +2...§...= 8JL1)
10 10 10

1) done
20 20 20 20

2) 3.1.§.+132 = 4 47 = 5.L '

61.§.+620 =1238 = 12.12.= 13
1
"i . 2) 5 27 +32-=8 34

40 40 40 40
2)

63 63 6324 24 24 12

3) 181£ + 3 50 = 2182 = 22..£. = 22 46

1970 +240 =21110 =2111=22~ 3) 5 32 _ 3780 80 80 80
3) 2 40 + 40 - 24080 80 80 8

4) 11llL + 4 25 = 15 43 = 16 .1l.

12 24 +5 22 = 17 46 = 18ll 4) 8 27 + 7 H. = 15 .11
30 30 30 30,

4)
63 63 6333 33 33 33

5) 9.±. +6.2..= 15..L

811.+2...§...= 101Z.= 11..£. 5) 3JL +4...§...= 7ll =8.2..12 12 12
5)

10 10 10 1015 15 15 15

6) 41Q.+1..2..=5.1§. = 6..1..

4.1.§.. 2 .±. = 6.12. 6) 2 .L+ 5 .1§.= 7 22 = 8 ..1.1515 15 15,
6) 20 + 20 20 21 21 21 21

7) 9 30 +2 35 = 1165 = 12.1§.= 12 1~
6 .1.§..+ 8 JL = 14 24 = 14§. 7) 6 JL + 4...§...= 1011 = 1116

50 50 50 50
7) \ 10 10 1027 27 27 9

8) 12 72 + 4 50 = 16 122 = 16 .§1 = 17 ~6
6llL +1.£1 = 7 39 = 711 = 8.1 8) 1.1§.+5R = 6 27 = 7.L

80 80 80 40
8)

20 20 20 2027 27 27 9 9

9) 3±+1.§.=41Q.=5~=5~ .

7 .1.§..+ 9 40 = 16 55 = 1611 = 17 16 ' 9) 13.11.+ 4.L = 171.@.
8 8 8

9)
42 42 4250 50 50 10 ~

(J)
04 20 +1JL = 5 28 = 5 Z.

16.1 +172. = 331Q.= 34£ = 34t c
10)

10) -32 32 32 8
10) 2JL+12....= 311= 4..1.. (

8 8 8 8 o·
::J

10 10 10 10
(f)

I\)....•.
»
I

I\)....•.
0
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1) 825 +4..6.1=1246 =1311.
35 35 35 35

2) 6 20 + 1..6.1= 7 .11 = 8 ~
28 28 28 28

7 4 3 13) 4--2- =2- =2-
6 6 6 2

4) 6£_11=51
5 5 5

13 9 4 25) 1310-910= 410=4'5

6) ~ +~ = 2 + 3 = ~
6 6 1 3

7) JL+.1£=9+12 =..2...=~
18 18 1 12 4

8) 20 ~ 20 = 20 + 20
50 . 50 1

9) 1x2. =...§...= ~
8 7 56 28

1 4 1 40) -x-=-
5 9 45

3 5 15 111) -x-=-=-
5 6 30 2

12) 99.;. 3 = 33 yds.

13) 6.;.2=3qts.

14) 36 x 2 = 72 pts.

15) 10

16) 72

17) 13-'-3= 41.. 3

4 6 10 5 118) 1-+1-=2-=2-=3-
8 8 8 4 4

21E
8 9 17 51) 812+512=1312=1412

2) 3.1.§.+ 11.§..= 4.lli
40 40 40

532 13) 2--1-=1-=1-
444 2

4) 6.§.-6.i=~
5 5 5'

3215) 4--1-=3-
3 3 3.

6) 20 -i- JL = 20 + 8 = 20 = ..§. = 21.
32 32 1 8 2 2

7) ~+1.=3+1=3
7 7 1

8) .1§. + .1.§..= 15+ 18 = .1§. = §. -
27 27 1 18 6

1779) -x-=-
9 8 72

2 1 2 110) - x- =-=-
3 2 6 3

11) Lx1.- 7
10 5-50'"

12) 71. + 71= 14~ = 15
2 2 2

31. + 31= 6 ~ = 61
4 4 4 2

15+6~=21~ in,

1 1 1 1 4 .13) 5-+5- +5-+5- = 20- = 22 In2 2 2 2 2 .

14) 41.+5~=9~=10
3 3 3

10+ 31= 131ft-.2 2
15) 8x6x3=144cu.ft.

16) 144.;. 12 = 12 cu. ft. drained
144 - 12 = 132 cu. ft. left

17) 17,259 + 3 = 5,753 yds.
18) 25.;. 2 = 12 112' qtS..
19) answers will vary
20) 5

21F

1) 1856 +350 =21106 = 2226 = 22Q
80 80 80 80 40

18 5 23
2) 1130 + 4 30 = 15 30

3 1 23) 9--5- = 4-
7 7 7

7344) 16 - - 8 - = 8-
5 5 5

5) 5.§..-21.=31.
8 8 8

6) 24 + JL = 24 + 8 = 3
32 32 1

7) 40 + ..2- = 40 + 5 = 8
50 50 1

8) 60 +...§...= 60 + 6 = 10
72 72 1

9) .1xl = -1... = .1..
5 6 30 15

10) §. x~ = 1Q =..2-
6 8 48 24

11) ~x1=R
5 7 35

21212) '3x'3=gsq.ft.

3 3 913) "4x"4=16 sq.ft.

14) ~X2X~=tSq.in.

15) §. x~ =.1.§.= 1.
6 5 30 2

16) 5x5x5=125cu.ft

125 x 56 = 7,000 Ibs.

17) 577.;. 3 = 192~ yds.

1 2 1 118) 10- 5 - = 9 - - 5 - = 4- years
2 2 2 2

19) answers will vary

20) 8
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